
https://www.pass4itsure.com/1z0-1046-22.html
2024 Latest pass4itsure 1Z0-1046-22 PDF and VCE dumps Download

 

 

 

1Z0-1046-22Q&As

Oracle Global Human Resources Cloud 2022 Implementation
Professional

Pass Oracle 1Z0-1046-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-1046-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1046-22 VCE Dumps | 1Z0-1046-22 Study Guide | 1Z0-1046-22 Braindumps                                1 / 3

https://www.pass4itsure.com/1z0-1046-22.html
https://www.pass4itsure.com/1z0-1046-22.html
https://www.pass4itsure.com/1z0-1046-22.html


https://www.pass4itsure.com/1z0-1046-22.html
2024 Latest pass4itsure 1Z0-1046-22 PDF and VCE dumps Download

QUESTION 1

Which three are correct locations from where Line Managers can access the Add Assignment guided process? (Choose
three.) 

A. Person Management work area in My Workforce 

B. Smart Navigation 

C. Actions Menu in About Me work area 

D. Actions Menu in My Team work area E. Quick Actions 

Correct Answer: BDE 

 

QUESTION 2

Your company wants to track previous employment information for workers, including employer name, dates of
employment, and job description. Which action should you perform? 

A. Create a free-form content type and a new content item. 

B. Create a new content type and content item. 

C. Use a seeded content type and a new content item. 

D. Create a new content type but a seeded content item. 

E. Create a free-form content type without a content item. 

Correct Answer: E 

 

QUESTION 3

During implementation, a two-tier employment model has been set up. Now the client wants to store employment terms
and contract details for its employees. Which statement is true about moving from two-tier to a three-tier model? 

A. The client can have both: a two-tier employment model can remain for its existing employees, and a three-tier
employment model can be created to hire new employees within the same legal employer. 

B. The client cannot move from a two-tier to a three-tier employment model after the model has been implemented. 

C. The client can move from a two-tier to a three-tier employment model at any point of time, irrespective of the
existence of work relationships. 

D. If no work relationships exist in the enterprise or legal employer, then the client can switch from a two-tier to a three-
tier employment model. 

Correct Answer: D 
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QUESTION 4

Action Type identifies the type of business process associated with an action and determines what happens when you
select that Action. As part of implementing Oracle Global Human Resources Cloud, Action Types are associated with
Actions. 

Which two statements are correct regarding Action types? (Choose two.) 

A. Additional Action types can be created. 

B. An Action type cannot be associated with user-defined actions. 

C. Action types are seeded. 

D. Every Action type can have multiple actions within it. 

E. If Termination is an action, Normal Termination is an action type. 

Correct Answer: CD 

 

QUESTION 5

As part of a client\\'s configuration requirements, they have indicated that they want to create divisions by 

Line of Business within HCM Cloud. 

After creating them in which two ways cam you associate workers with a specific division? (Choose two.) 

A. Division is a delivered field on a position. If you are using Positions, when you associate a worker with a position,
they will be associated with the division tied to that position. 

B. You configure and deploy an assignment descriptive flexfield that has a table value set that references the Division
object. When you complete a worker\\'s assignment, you select the appropriate division through that flexfield segment. 

C. Division is a delivered field on the worker assignment so when a worker is hired, the correct division would be
selected by the user entering the information. 

D. You have configured an Organization Tree, listing the hierarchy of your Legal Entities, Divisions, Business Units, and
Departments. You associate a worker with a department that falls within a division to associate the worker with that
division. 

Correct Answer: AC 

As part of a client\\'s configuration requirements, they can create divisions by Line of Business within HCM Cloud, and
associate workers with a specific division by using the Division field on a position (if they are using positions) or the
Division field on the worker assignment when a worker is hired. References: [1] Oracle HCM Cloud Documentation -
https://docs.oracle.com/en/cloud/saas/global-humanresources/2022/fahgj/define- divisions.htm#FAGHC-GUID-
E9C6B32B-2F2B-4E6C-B136-C4A4A4F4A4E2 
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